WORKSHEET: Complete the following in a two column proof. Notice the first six you have ALREADY completed from
your HW on p. 211. Please ensure you understand each step. The last two are new!

9. Given: EF | ﬁ,ﬁ"ﬁ GH
Prove: EK = KH
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1. Given: /V = £5 TV =05
Prove: VR = 5R
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14. Given: Z is the midpoint of CT.
CYITE
Prove: YZ = EZ

15. Given: ~NOM = »POR,
NM L MR
PR L MR, NM = PR
Prove: MO = OR




16. Given: DL bisects W,
£XIN = £ XDB
Prove: LN = DB
B

17. Given: +F= 2], £+E=+H

EC=GH
Prove: ET = m
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Given: WX=XY, /V=s7

Prove: WV=YZ

Given: ABMI = AKMT

IP = PT
Prove: AIPK = ATPE
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